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68138 570| 5,683,167|3X B & (EEHBH) t
65148 31,575| 5,651,592 | K& RERXRFVAPLYRYE) t
68158 13,620 5,665,212[F v X5 E t
68148 4,305| 5,660,907 K& (T—FK) t
68158 580| 5,660,327 | K& (BEHL) t
6H15H 800] 5,659,527|P t
65168 15,194 5674,721[F v X5 E t
6816H 2574| 5672,147[HV) 4 t
68168 500] 5,671,647|P t
6H3H 2,000 5,673,647t v
686H 800 5,674,447|CFF v
6810H 2,000 5,676,447|CF 4T v
6H6H 1,270 567771179 v X5EE v
6888 1,570 5,679,287/ v X% L vy
68148 2,000 5,681,287|CF 1t b
65148 2,000 5,683,287|C 4T t
68138 262| 5,683,025[3RYIAHFEHE b
6H13H 5,792 5677233 | X RBERE (SYIVX. ) b
65180 2,110] 5,675,123| 1 mEcE R t
6818H 6,000 5,681,123|9 v X5 Lk t
68188 131,596 5,549,527 | RRERE (X58859) b
6H18H 105] 5,549,422 IRV A& FEEHFE b
68208 1,816| 5,547,606|1—/\ O FHE b
6H20H 800 5,548,406 C &+ b
68258 7,920 5540486 [RERXBEREESYIR. ) t
6824H 272| 5,540214| KA (L2FFTYX) t
68258 3,200] 5,537,014[P t
6825H 3,385| 5533,629| RKAR(HL) t
68258 900] 5,532,729|P t
68258 1,532 5,531,197 | REM (REXABLE®) t
68278 3,500[ 5,527,697/ t
65288 200] 5,527,497[P t
6 5308 2,200 5,525,297[P t
68258 35,282| 5490015 EAXBRERE (STSF—I. ) t
68258 54,270| 5435 745|RERXBRERE (L —X—. 2) t
68218 20,000 5,455,745|CF % v
68308 36,818] 5,418,927|BEE L b
68308 1,000 5419,927[C & b
68308 2,000 5421.927|CFF b
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5421,927[7/ 11717 &%

7828 4,000] 5,417,927[HV") £

7H2H8[ 10,000 5427,927| = &1+

7878 840| 5427 087|FERMALTFHFU AT L—FF7F)
7H8H 5,000/ 5,422,087 IREXRBIEBATEL

7H28 16,650 5405437 [ KX BB EERE (SISF—IL. )
7H9H 1,760| 5,403,677 | KM (BHEREXA. HKRXH—7)
7811H 61,663| 5342,014| K XBEFE (T—ILTV. 2)
7H11H 15,473| 5,326,541 | {RERXRBZERE SYIRX. )
7H16H 16,012] 5310529[ KX BERE (E—J ). 2)
7H15H 1,000] 5,309,529 & (FFFFAKRIZIH)

7H5H 3,000 5,312,529| &+
78158 105 5,312,424 |3 Y sA A F Fkt
7H19H 1,701] 5,310,723[4—/ > 2 F 2kl
78208 500 5.311,223| & ¢
7H21H 18,672| 5292551 | RERBEERE SVYIR. )
78248]| 22,080 5,314,631 [FEEHE (Fv/\UT7. )
7H24H 22,100] 5,292,531 [{REXBRERE (Xv/\UT7. )
78268 4.050| 5,288,481|71) 4%
7H30H 1,000/ 5,287481|P
78258 2,000 5,289,481| =& {1
7H27H 3,952 52855294 % (SAN)LL—)L,. EEILRER)
78288 18 5,285547[FI B (V\vE— =7 OFE)
7828H 222 5285769 FI B (KyF < T )L A—F O FE)
78228 21,000 5,306,769| =& {¢
7H28H 840| 5305,929| O EEFS & (BLE —ER1T) R YA & F 24
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5,305,929[8/11F 1T &

88 1H 43,680 5,262,249 [ K RIREEE (J—JILT. 2) t

88 10H 47,200] 5,215,049 [# K RKIREHEE (SYIR. 2) t

88 7H 7,875 5207,174|RERBEREC—X—. 2) t

8H5H 2,283] 5,204,891(AHV) £ t

88 7H 1,400] 5,203,491[P t

8B10H 56,022| 5,147,469 | K XKBERE (SYI X . 588H) b

8B 10H 6,118] 5,141,351 [#HK KB EEE (SYIVR. ) b

8B 18H 16,740| 5124611 [ RBERET—ILT. ) b

8H8H 26,478 5,151,089|C&F{T b

8H20H 26,622 5,124,467 | K RBEHE (SYIR. 2) t

88 18H 4,000] 5,120467|HV) £ t

8H20H 600] 5,119,867[P t

88 22H 10,710f 5,109,157 |EMEBE (T UA ML) t

8H22H 1,500| 5,107.657[AV) 4K t

88 23H 698| 5,106,959|# & (EMAE T =ss) t

8H31H 1,589| 5,105, 370[ BB ANT F— X 2{@ t

88 28H 67,443| 5037,927|{RERBRERE (STSE—IIL. ) b

8H28H 105| 5,037,822|F %% b

88 31H 2,079 5035 743|FEF e 7AS t

88 31H 2,079 5033,664| EFTEEHE8AL t

88 28H 19,168] 5,014,496|DSEFREL 7B t

8H28H 5467] 5009,029|REREREATLEBEMETAS t
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5,009,029[9/11F 1T 2%

982H 45,454| 4,963 575|# KK TS T7AE X 28 b

9828 420] 4,963,155|F %%l b

9810H 14,630 4,977,785 FER & L —RX—. )t

9H3H 700| 4,977,085 FEERE(E—F L. Mt

9810H 990| 4,976,095 |BEBEEHE (—X—, )t

9H8H]| 20,000 4,996,095|CF 1t t

98 12H 24,508| 4,971,587 | K XBERE (SYIX. ) b

9812H 367 4,971,220|IRYIAHAFHF b

9812H 5113] 4,966,107 | RERBRHATLES E:H%sﬁ

9B 12H 11,624] 4,954483|DSHERTEFRE8H Y

9818H 22,342 4,932,141 1%s’éjc‘f"%#‘—’%2(<y/77\ ) t

9H20H 13,971 4918170 {RERBREREESYIR. M) t

9H18H 16,957 4901 213|RERBZERE SVIX. L) t

98178 4,000] 4,897.213|AVYUI X t

9H22H 2,000[ 4,895 213|EH@AL IV —= T & t

9H27H 14,041] 4881 12| REXBERE(E—JIIL. ) b

9H27H 22,072| 4,859,100/ {RERBRERE (STSE—IL. ) b

9278 21,477| 4,837,623[# K XBRERESVIX. 2) b

9H28H 24,864 4,812,759|kM(L<—k b

9H26H 3,833 4,808,926|kAL—k t

9H23H 2,000] 4,806,926]P t

9H26H 2,101] 4,804,825[ vy ERE t

9H26H 598| 4,804,227(EEFEFEEES t

9H25H 4,800] 4,799,427[P t

9H23H 600] 4,798,827|P t

9H29H 8,732] 4,790,095[DSEFRTEERILIAD t

9H29H 4,726( 4785369 EFHFAEER LA t

9H29H 28,800 4,756,569 | AR LRIEALIFE t

9H29H 4536] 4,752,033|FAIEZSAHE t
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4,752,033[10/1{F [T ZR&
10A1H 6,800 4,745233|5&Ff & t
108 1H 1,800] 4,743,433|AV) K t
10A2H 3,250] 4,740,183| = @E € t
10A5H 5,000 4,745,183 :‘?frﬁ t
10A3H 1,400] 4,743,783|P
1087H 26,418| 4,717,365 %&“‘kﬁ%? Kt
10A1H 57,240 4,660,125|EMEY (RESEEDt
108108 600| 4,659,525 EEBHUIFF t
108148 1,051 4660576 ZFft t
108148 91,203| 4,569,373| KK x BEEEE b
10814H 18,555| 4,550,818 KIZERFE (SYU XA X588) b
108 16H 1,350| 4,549,468 | EERHUVIFF t
10818H 6,666| 4,542,802 {RERBRE (E—JILIYIR, Mt
10H18H 5,000 4547,802|CFft t
10818H 400] 4,547,402|P t
108188 20911] 4526491 | K XBERE T —ILT. %) b
10H21H 370| 4,526,121 |BEEBIHLIF t
10H22H 800| 4,525,321 |5 & H £ t
10822H 1,400] 4,523,921|P t
10H22H 3,800] 4,520,121|AV) 4% t
108228 12,197] 4,507,924|{RERTEE (SYIR, IEbDhH, It
108268 9,634] 4498290 REXRBREREE (SYIR, Mt
10826H 9,588| 4,488, 702| K KAT—F t
108248 26,375| 4,462,327 |{RERBRERE (STSE—JL. Mb
108278 5,000] 4,457,327|HPATF R t
108318 18,742| 4,438,585 | HBIEE I 7N LA t
108318 22,555 4,416,030/ REXEXRERE (FI T, Mt
108298 9,700| 4,406,330| 5 & ¥ € t
108298 7,711] 4,398,619|AVIU K (R KIRE) t
10H29H 20,000 4418619|CFft t
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4419 249[11/1F T ZRE
1182H 3,953| 4,415,296 [ K XKFHT—F t
11H4H 980| 4414316 BT E t
11H6H 2,000 4,416,316| St t
11H6H[ 10,000 4,426,316| 14T t
11H6H 5,000 4,431,316|CF 4T t
11H6H[ 10,000 4,441 316|CF 4T t
11H6H 4,400] 4,436,916|P t
11H8H 4,000] 4,432,916|HVY)> t
1185108 8,546 4,424,370 1%%;%%%%%%2(5“/77\\&) b
118128 5984| 4418386 | RERBRERE(E—JIL. ) b
11H19H 14,097 4,404,289 %&“‘jcﬁﬁv—lf t
118198 650] 4,403,639 FE K2 t
11H19H 30,000 4433,639|CFft t
118218 2,079 4,431,560|FEH L8
118218 2,079 4429.481|FFH L1118 H
118228 67,368 4,362,113? K KR4EES IEJE%
118228 2,079] 4,360,034| F:EX L1088
118228 7,000] 4,353,034 #m =211 8%
118228 6,937| 4,346,097 #m =Z108 &
118228 29,606| 4,316,491|{Rz jc‘r"%#*%(wbx d) t
118278 1,500] 4,314,991|P t
118298 400] 4,314,591|P t
11H27H 5,000 4319591 Fft t
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4,319591[12/11F7 1T &

12H2H 31,379| 4,288 212|RERBRERE (SITSFE—I/L. )
1282H 15,874| 4272 33| K RBRERE T—ILTV. %)
1282H 50,388| 4,221,950 REXBRERE (SVIX. )
12H6H 3,045| 4218905 | RERBRERE SYIR. )
12H2H 680| 4,218 225|EFAE R I =2

1288H[ 346,230 4,564,455| = &1t

12888 10,500] 4,553,955[ vk 3y T BT E
128138 350] 4,553,605(=#5 &R 1L
128108 2,700 4,556,305\ v X% E
12H510H 4,930 4,561,235+
128178 600 4,560,635/P
128188 35,880 4,524, 755| REXEAERE (EX. 2)
12820H 30,822| 4493933| RERBRE-EAEFERE (TV7. &)
128208 3,150| 4,490,783 | KRR ERE SVIRX,. 2)
12H10H 6,880| 4,483,903 |RERXRREREFTUT. &)
128178] 34,680 4518583 | REXZEERE (SVIR. 2)
128228] 12,780 4531363 | REXZEERE (TUT7. 2)
12H22H 7,204| 4524 159|¥HEE128 S
128228 2,940] 4521219/ RERBRERE ((2JLMP, 2)
12H22H 1,400 4519819[5F KX (FIT. )
128228 1,049) 4518770/ REXRBEERE (FI I, )
128228 6,961] 4,511,809 1%5%&%%*%%(5“47& D)
128228 11,556/ 4,500,253 | RERBRERE SVIX,. AN)
128228 3,780| 4,496,473 15& ERBEERE (ERXMP, 2)
12822H 432| 4,496,041 |3 & (£ +.24%0
128228 2,380] 4,493,661|#E (£&)
12H22H 3,300] 4,490,361|P (E A FFH)
12H24H 16,100 4506,461| =1+
128248 2,204] 4,504,257 1&“‘*%"%**%\/’7;( 2)
128248 8,736| 4495521 |{REXRBRERE (EX. 2)
128248 32,251 4463270 {REXRE -EXEREREA4JL. %)
128248 14,324| 4,448 946 |[IREXBREBE (/2L . %)
128248 2,800] 4,446,146]P
12828H 1,594| 4444552 | KBEREQ—ILT. 2)
12828H 9,960| 4,434 592[H K XBRERE SVIX. 2)
128 28H 3,600] 4,430,992|P (E%E%)
12828H 10,290] 4,420,702 {RERBRERE (EX. ?)
12828H 4,880| 4,415,822 1&“‘*%"%**%\/’7;( 2)
128298] 20,100 4435922 | REXEXRERE (FUJ. M) +EHHE
12H30H 3,560]| 4,432,362 73‘“/U>
12H30H 4,000| 4,428,362|H1)>
12830H 400] 4,427,962[P
128158 42,658 4,385,304 1&“‘*.‘%%*%%5“/’77(, )
12830H 122,184[ 4263120/ REXEEE SVIR. ?)
128308 735] 4,262,385 a@%%&*ﬂra#ﬁ




